i
J

(A ¢
tep coheod

Q SC

C

1nm




P




ompany .
introduction 2 & &5

Shanghai Innotec Co., LTD. provides high quality MIG-TIG-PLASMA torches and
spare parts, plugs and sockets. We’ve accumulated rich experience in cooperation with
important welding machine manufactures, importers and distributors, our products are
CE certified. Our team provides brand service and personalized OEM service.

We will keep our effort on product innovation, in order to create added value
together with our business partners.

EBZERFEERADEWREESREMMIG, TIG, PLASMARENE , RIEFLIEES
IREREM. (CESERIKEEN R, #OBURERKKEREE  RETFENTR
2%, EREEEBRESHNRITREFIIAR.,

HAVGRFEH |, RN KEEFHIMNE.

The articles stated in the present catalogue are subjected to modifications or substitution without prior notice.
The brand names and trade marks listed under in this catalogue are the registered trade marks of the proper
owner and remain exclusive property of the respective owners. The parts shown in this catalogues are not gen-
uine parts of the respective trade mark, they are interchangeable parts made to fit the original equipments. All
the Reference codes are only for a convenient research.

AHAFTROFRAUBAELRDHITERHER, AXTATEROTIRENERERETXEIMANES
W=, AERFRASROERIFER =R ARESRI ~RHARES, FANSRSBNNATAERE.

RoHS

C € eveoorir @

eneral
contents

Spare parts
B 1

CABLE & PANEL CONNECTORS

2338 5 3k

EARTH CLAMP
EILES

ELECTRODE HOLDER
AR

ELECTRONIC PLUG
LS4 Sk

CLAMP

+

QUICK CONNECTORS
iz Sk
HOSES-TUBES
&t

PROTECTION LENSES
WH-r B

1

12

13-14

*USATYPE TORCHES AND SUPER FLEX SILICON RUBBER CABLE ARE AVAILABLE UPON REQUEST




CABLE & PANEL CONNECTORS 'R i 3k CABLE & PANEL CONNECTORS ~ 'Hhid i 3k
C € vsorirz

v

B [ cose [ewrm wnla bl ol o] [Type] coue | Description ————Jpack

10-25 1SQ0080 200A 6 23 6 20 ®32 14 Plug TIG 25mmq 1/4G L=0.6m
® ® 18Q0032 TIGH 5% #6 £25mmgq 1/4G L=0.6m 10
| e 10-25 1SQ5080 200A 6 23 6 20 ®32 14 S00082.01 Plug TIG 25mma 1/4G L=0.6m/new type .
35-70 1SQ0086 400A 18 34 65 30 048 21 - TIGH 1 i# 1% 5<25mmq 1/4G L=0.6m/#i 7t
35-70 1SQ0053 400A 13 33 63 30 ®38 21 15Q0033 Plug TIG 25mmq 3/8G L=0.6m 10
5 538 9 S 0.
70-95 1SQ0054 500A 20 33 63 30 ®38 24 ISt e et /86 =0,
Plug TIG 25 3/8G L=0.6m/new t
70-95 1SQ0087 500A 25 34 65 30 ®48 24 15Q0023-01 1,65 'B&iZ}E?%TZ%mmq 378G a0 B/t =t 10
Plug TIG 25mmq M12x1 L=0.6m
[SQORSE TIGH 3% & $k25mmq M12x1 L=0.6m 10

Plug TIG 25mmq M12x1 L=0.6m/new type
I1SQ0034-01 TGy f i@ 4 sk25mmq M12x1 L=0.6m/FHzt 10

A
Plug TIG 50mmq 1/4G L=0.6m
1SQ0022 TIGH 1R % 4% <50mmq 1/4G L=0.6m 10
Plug TIG 50mmq 1/4G L=0.6m/new type
1SQ0022-01 |Gy 1 % k50mmq 1/4G L=0.6m/Hi 5t 10
Plug TIG 50mmq 3/8G L=0.6m
ISeez TIGH 1 i 4% 5k50mmq 3/8G L=0.6m i@
Plug TIG 50mmq 3/8G L=0.6m/new type
1SQ0023-01 1G4 Sk50mmq 3/8G L=0.6m/Hi = 10
TIGH R 3 #& Sk50mmq M12x1 L=0.6m
10-25 1SQ0060 200A 6 23 6 20 ®325 14 1SQ0024-01 Plug TIG 50mmq M12x1 L=0.6m/new type 10
35-70 1SQ0027 400A 18 23 6 30.5 ®38 21 TIGH R % 3:50mmq M12x1 L=0.6m/&i =
’ Plug TIG 25mmgq L=2m
70-95 1SQ0028 500A 25 33 6 305 ©38 24 1SQ6675 TIGH % 4 k25mmq L=2m 10
Plug TIG 25mmq L=2m/new type
0.22m 5 ISQB675-01  TiGHg fe s Sk25mmq L=2m/3i 7% 10
Plug TIG 50mmq L=2m
1SQ0036 TIGH % 45 <50mmq L=2m 10
Plug TIG 50mmq L=2m/new type
ISQO036-01  1\GHg i 45 Kk50mmaq L=2m/# 10
Plug TIG 25mmgq quick connector L=0.6m
1SQ0040 TIGH R i#® # k25mmq quick connector L=0.6m 10
Plug TIG 25mmgq quick connector L=0.6m/new type
c 1SQ0040-01 TIGH 11 #& $k25mmq quick connector L=0.6m/# = 10
Plug TIG 50mmgq quick connector L=0.6m
1SQ0030 TIGH R i# f k50mmq quick connector L=0.6m 10
Plug TIG 50mmgq quick connector L=0.6m/new type
L mm' | Coce | ampmax [ e | 1003001 F e meror (L0 o 10
1SQ0038 Plug TIG 50mmq 5/8-18UNF L=0.22m 10
10-25 1SQ0070 200A 14 TIGH R i3 4 <50mmq 5/8-18UNF L=0.22m
] 10-25 1SQ5070 200A 14 D Plug TIG 50mmq 5/8-18UNF L=0.22m/new type
35 1SQ0076 250A i ISQ0038-01 /G %% x50mmq 5/8-18UNF L=0.22m/3ist 10
50 1SQ0077 300A 21
70 1SQ0075 400A 21
70 1SQ0078 400A 24
95 1SQ0079 500A 24

[ mm* | cCode |  ampmax | e |
10-25 1SQ0090 200A 14
35 1SQ0096 250A 21
50 1SQ0097 300A 21 QG085
. _15Q6085
70 1SQ0012 400A 21 1ZH7634
a 70 1SQ0098 400A 24
e 3 95 1SQ0099 500A 24

Note: About the registered trade mark, reference number of the model of the machine and spare parts, please see inner cover (company introduction) Note: About the registered trade mark, reference number of the model of the machine and spare parts, please see inner cover (company introduction)
1 ERTFiEMER. RREHHSERSHER, BAHERR (AFEN R TFiEMER. RREGHSERESHER, BRHEARAR (AFEN 2




EARTH CLAMP #ih 3k

[Code | Ref. | Description | pack]

Italy Type Earth Clamp 200A

EARTH CLAMP i#Zih 3k

[Codo | Ret | Doscripiion [ Pack

11H0140 B30 H2200A 50 1IHO0160 %uir&%ﬁn%?%iEarth Clamp 300A 50
11H0141 ggé@;‘;%ﬁ:c'ﬂmp 3004 50 11H0161 Exu;?;%iz%%%fanh Clamp 500A 50

[Godo | Ret | Doscription [ Pack

Italy Type Earth Clamp 200A

1IH0145 50

[Code | Rer | Doscription | Pack

Holland Type Earth Clamp 300A

B iEHH200A 100 W2 B4 %300A il
Italy Type Earth Clamp 300A Holland Type Earth Clamp 500A

11H0146 E3CE H %300A 50 11H0166 7522 4 £ 500A 50
Italy Type Earth Clamp 400A

lIH0147 B %400 50

[Godo | Ret | Doscription [ Pack

[Codo | Ret | Doscription [ pack

European Type Earth Clamp 200A American Type Earth Clamp 200A

IIH0150 B 1 .3200A Y lIH0167 £30EHEI00A 50
European Type Earth Clamp 400A

IIH0T51 B i 400A 50
European Type Earth Clamp 600A

1IH0152 B 3t 32 1 26 00A 50

[Code | Rer | Description | pack

"
~,

[Codo | Ret | Doscription [ Pack

European Type Earth Clamp 300A British Type Earth Clamp 500A

11H0155 B3 52300A S 11H0190 EREHH500A 2
European Type Earth Clamp 500A British Type Earth Clamp 600A

lIHo156 B 12 1.3500A 50 lIHO191 H B K600A 50

=

Note: About the registered trade mark, reference number of the model of the machine and spare parts, please see inner cover (company introduction)

Note: About the registered trade mark, reference number of the model of the machine and spare parts, please see inner cover (company introduction)
3 X TFEMER. BEREGNSERHSHERE, BRAHEAR (28ED

EXRTEMER. NBREGNSERSHER, EAHEAT (XFFEM) 4




ELECTRODE HOLDER R /EfH

B

[Code | Ref. | Description | pack]

Italy Type Electrode Holder 200A
11H0100 U 1R H200A ol

Italy Type Electrode Holder 300A
110101 B AIRH300A 50

Italy Type Electrode Holder 500A 50

1IH0102 X AIRH500A

[code | Rer | Description | Pack

Italy Type Electrode Holder 200A Red

lIHo105 BB A AIRH200A 50
Italy Type Electrode Holder 300A Red

liHo106 T B R BIZH300A 50
Italy Type Electrode Holder 500A Red

L0 T E B RIRHS00A 50

[Godo | Ret | Doscription [ Pack

Italy Type Electrode Holder 200A
11H0110 B 3 E 2 4H00A 50

[Code | Ref. | Descripiion | pack]

Nibcbés Aot ttesr egissézeatititeatbornaaki,

Italy Type Electrode Holder 300A Red
1IHO115 B HIES300A 50
Italy Type Electrode Holder 500A Red
IIH0116 AR E500A 50
abfthieenncalde lobfttieerr i pRatss, | ji rocoeE (¢

® przanyyil G0T))
TS . MRS SRS, WIAEAT (A

ELECTRODE HOLDER H/&E%H

—
.
—

[Godo | Ret | Doscription [ Pack

Italy Type Electrode Holder 200A

IHQO0117 B3t EIE4200A 50
Italy Type Electrode Holder 300A

IHQo118 B ARE300A 50
Italy Type Electrode Holder 400A

IHQ0119 =3t B K2 4H400A 50

[Codo | Ret | Doscription [ Pack

Holland Type Electrode Holder 300A

I1H0125 2 R BI24H300A 50
Holland Type Electrode Holder 500A

lIH0126 722 3L AL 1R 5 00A 50

[Code | Ret | Description | pack

Australian Type Electrode Holder 300A
1IH0130 3 H 1 EH300A ol

Note: About the registered trade mark, reference number of the model of the machine and spare parts, please see inner cover (company introduction)

TR . WEREAR SR A, RITETR (RS

88




ELECTRONIC PLUG

v

RoHS

C € evowr @

LS4 5k

ELECTRONIC PLUG

v

RoHS

C € avooosr @

S %

Y IHQO0752
IHQO750  M19x1.0 Code m Description m : 2PIN Code m Description m
L
£ EI i
£ Connector 2 holes g |
< IHQ0750 - 10 oy | Connector 2 holes
3 TS 4 IHQ0752 T 10
- Connector 2 holes o
IHQO0757 - 10 - o Connector 4 holes
ol o el IHQ0752-01 Tt b 10
Connector 3 holes ) 4PIN
IHQ0757 M16x1.0 IHQ0799 B 10 : IHQO730 3_0%?%%14 holes 10
—_ k)
g “ﬁ.“ IHQO754 %orgrﬂ;%ors holes 10 'l IHQO736 Conrlsctor14 holes 10
~ :""“'ﬂ! y ! R
o =2 i r CONNTECTOR 6 HOLES/YS-16 ! -
& z i IHQO872 HERLEE VS A16 10 s IHQ0759 RS 10
Connector 7 holes = )
IHQ0719 = 10 174 ~ Connector 3 holes/With connectors/Pan
IHQ0799  M16x1.0 CRE IHQO736 _1-1/4-18 UNES.2B S 4PN IHQO751 SIS/ AT 10
CONNTECTOR 2 HOLES/YS-16 £ } Connector 4 holes/Meller
T : IHQ0885 AR VS 16 61 10 EI 1'| e LR Y 10
e - NNECTOR 5 HOLES/BINDER >
:i ':EI IHQ0895 %%%}E(/:Eo% SHOLES/ 10 & l,." 1HQ0791 ?\OEE%MB holes 10
&1 = = A
A B IHQO758 SR arlieles 10 gl 1HQ0715 Connector 10 holes o
=0 TS A
IHQO754  M16x1.0 = 5PIN 1-1/4-18 UNEF-2B \,1‘4'3”\‘ Connector 14 holes
T e "'u Other plug and socket at request ¢ IHQ0792 T 10
\
& 3 ﬂ .II
L - =
L ‘4 Other plug and socket at request

IHQ0742
1S
E I
©
o ”
IHQ0895 IHQO0791
W =
= ET
-'!'*45;39" E
N -
IHQO0758
IHQO0715 15/16-20

IS s 3 =y,
If = = e
©

'r"l.; “ r ﬁ

IHQ0759

Note: About the registered trade mark, reference number of the model of the machine and spare parts, please see inner cover (company introduction)

7 ERTFEMERR. BRREGNSERSHIER, BRHEART (2FEHNT

Note: About the registered trade mark, reference number of the model of the machine and spare parts, please see inner cover (company introduction)
AT IEMERR. NS REGNSERHSHER, BERHEAT (AFEN 8




ELECTRONICPLUG HS#kXk CLAMP i

RoHS

C € ENeoo7a7
[ Code | _Ref. | Description ____JPack

IHQO737 Code m Description m
€
£ Connector 3 holes
gi|: IHQO0737 =R 10 10
5 Q0756 Connector 5 holes ; ) IFT0720 Clamp ®20mm;+# ®20mm
A RAE 0
IFT0722 Clamp ®9mm;F§E OImm 10
1HQ0720 oIl 10 IFT0720 20mm
IHQO756 © | IFT0723 Clamp O7mm;+4& O7mm 10
Connector 6 holes
IHQ0721 riyers 10
E ISR
& . SN TECTOR 6 LELESEANN IFT0724 Clamp ®8.3mm;F#E ®8.3mm 10
o 2 IHQ0930-01 o N TS /N 10
b e — IFT0722 9 IFT0730 Clamp O8mm;+3 08 10
1HQ0930 CONNTECTOR 6 HOLES/PAN/F 10 S mm XD (X LI
NS/ T/ B
IFT0734 Clamp ®8.7mm;F & ©8.7mm 10
IHQ0720 IHQ0710 iog;;%oﬂ holes -
£ IFT0735 Clamp ®10.5mm;4% ®10.5mm 10
£ Connector 4 holes IFT0723
& IHQ0854 S S 10
o = - - - IFT0737 Clamp ®9.5mm;F# ©9.5mm 10
N Centre adaptor torchside PLASMA without back box and pins
12X0063 SEFRRRLARENG 10
IFT0741 Clamp ®21mm;+# ®21mm 10
M29x1.0
1HQo721 x _ Other plug and socketat request IFTO724 IFT0744 Clamp ©22mm;+4 ©22mm 10
E \\' IFT0748 Clamp ®17.5mm;F# ©17.5mm 10
@ i
N = . IFT0730 IFT0823 CLAMP ®13-19mm ; EFF1FE O 13-19mm 10
L 10
IHQ0930-01
ﬂ IFT0734
IHQ0930 IFT0735
IFT0737
IHQO0710
£
£
mI IFT0741
~
IHQ0854
£
£ IFT0744
w
~
IFT0748
12X0063 17.5mm
I IFT0823
Note: About the registered trade mark, reference number of the model of the machine and spare parts, please see inner cover (company introduction) Note: About the registered trade mark, reference number of the model of the machine and spare parts, please see inner cover (company introduction)

---9 ---- ERTIEMER. RREGNSERSIER, BRHTAT (AREHMD ERTIEMER. NBRREGNSERSIER, BRHTAT (AREFMD 10




QUICK CONNECTORS Rk

RoHS

c E EN 60974-7 .

RO 0 o

¢8

$10

Lo [code [ Ror. | Descripton ______[Pack]

M12x1.5
M14x1

1/4"
3/8"

M12x1

I T T I

1/8G

Lo cods | Ret. | Description ________[rack]

¢ 6
¢8

1ZT8025
1278035
1ZT8095

12718021
1278031
1ZT8091

1218092

1ZT8050
1278056
1218057
1ZT8058
1ZT8094

1278029
1ZT8039
1ZT8099

1ZT8070
1278089

501.0204

501.0190

501.0114

Quick connector ® 6mm Red;7K & & #f EE® 6mm/4 &
Quick connector ® 6mm Blue;7k i & 1 EE® 6mm/i &
Quick connector ® 6mm;7K i i i FE® 6mm

Quick connector ® 8mm Red;7k 3% & #E EE® 8mm/4L &
Quick connector ® 8mm Blue;7k 1% i i FE ® 8mm/i% &
Quick connector ® 8mm;7k iR i 1 FE® 8mm

Quick connector ® 10mm;7K & i 1 £ © 10mm

Quick connector M12x1.5;7k i & 1 B M12x1.5
Quick connector M14x1;7K & i@ 1 FE M14x1
Quick connector 1/4G;/KiRBIHE 1/4G

Quick connector 3/8G; /K iR @ IFHE 3/8G

Quick connector M12x1;7k i & #& B2 M12x1

Quick connector 1/8G Red;7k iR @ i [E 1/8G/4 &
Quick connector 1/8G Blue;7k %@ G EE 1/8G/H &
Quick connector 1/8G;7k iR B & FE 1/8G

Quick connector ® 6mm;7k & i & EE® 6mm
prgc]

Quick connector ® 8mm;7k FHEOG8mm

10
10
10

10
10
10

10

10
10
10
10
10

10
10
10

50
50

Note: About the registered trade mark, reference number of the model of the machine and spare parts, please see inner cover (company introduction)
AFE N

11

ERTIEMEE. NBRRERGNSERSER, BRHEAT

HOSES-TUBES =#7+

€ Ene0s7a7 ()

IKH0014
IKH0019
IKH0059
IKH0090
IKH0091
IKH0092
IKH0093
IKH0094
IKH0095
IKH0099
IKH0619

ICK0043
ICK0049
IKH0056
IKH0665
IKH0669

ICK0665
ICK0666
ICK0667
ICK0668
ICK0676

IKH0044
IKH0601
IKH0604
IKH0605
IKH0609

IKH0630
IKH0635
IKH0636
IKH0638

IKH0071
IKH0074
IKH0076
IKH0087

PVC tube ® 20x22mm/Black;PVCE ® 20x22mm/EZ &
PVC tube ® 26x28mm/Black;PVCE ® 26x28mm/E &
PVC tube ® 24x26mm/Black;PVCE ® 24x26mm/2 &

IKH0706
IKH0707
IKH0708

IKH0043
IKH0606
IKH0607

IKH0666
IKH0667

PVC tube ® 10.5x15mm/Grey;PVCE ® 10.5x15mm/f% &
PVC tube @ 8.5x12.5mm/Grey;PVCE © 8.5x12.5mm/% &

IKH0062
IKH0070
IKH0075

IKH0081 nylon tube ® 8x6mm/Black;/2 # & ® 8x6mm/E & IKH0011

IKH0012

N
o
=
==

Note: About the registered trade mark, reference number of the model of the machine and spare parts, please see inner cover (company introduction)
AT IEMER. NSREGNSEZRESHER, BRHEAR (RFFD

[Coce [ Ret. | Doscripion

EPDM tube ® 45x47mm/Black;EPDM& ® 45x47mm/Z &
EPDM tube ® 31x33mm/Black;EPDM%& ® 31x33mm/E &
EPDM tube ® 35x37mm/Black;EPDM& ® 35x37mm/Z &
EPDM tube ® 16x18mm/Black;EPDM%& ® 16x18mm/E &
EPDM tube ® 20x22mm/Black;EPDM& ® 20x22mm/Z &
EPDM tube ® 19x21mm/Black;EPDM& ® 19x21mm/Z &
EPDM tube ® 26x28mm/Black;EPDM%& ® 26x28mm/E &
EPDM tube ® 24x26mm/Black;EPDME ® 24x26mm/E &
EPDM tube ® 16x20mm/Black;EPDME& ® 16x20mm/E &
EPDM tube ® 14x16.5mm/Black;EPDM% ® 14x16.5mm/Z &
EPDM tube ® 22.5x25.5mm/Black;EPDME ® 22.5x25.5mm/2 &

EPDM tube ® 10.5x14mm/Black;EPDM% ® 10.5x14mm/Z &
EPDM tube ¢ 8.5x12.5mm/Black;EPDM%& ® 8.5x12.5mm/Z &
EPDM tube ® 11.7x15.7mm/Black;EPDME ® 11.7x15.7mm/2 &
EPDM tube ® 4x7mm/Black;EPDM%& ® 4x7mm/2 &

EPDM tube ® 5x10mm/Black;EPDM% ® 5x10mm/2& &

Rube tube ® 22x25mm/Black; & i 1 it & ¢ 22x25mm/E &
Rube tube ® 25x28mm/Black; X i & ® 25x28mm/E &
Rube tube ® 28x31mm/Black; X H B & ® 28x31Tmm/E &
Rube tube ® 40x43mm/Black; X H 55 & © 40x43mm/E &
Rube tube ® 51x54mm/Black; X H K & © 51x54mm/B &

EPDM tube ® 5x8mm/Black;EPDM& ® 5x8mm/Z &
EPDM tube ® 5x8mm/Blue;EPDME ® 5x8mm/ik &
EPDM tube ® 10x15mm/Black;EPDM& ® 10x15mm/2 &
EPDM tube ® 5x8mm/Red;EPDME ® 5x8mm/4 &
EPDM tube ® 9x13mm/Black;EPDME ® 9x13mm/E &

Silicon tube ® 9x13mm/white;FE &R E ® 9x13mm/H &
Silicon tube ® 5x8mm/white;EE &R & ® 5x8mm/E &
Silicon tube ® 10x15mm/white; & E ® 10x15mm/A &
Silicon tube ® 6x9mm/white;EE R IR & © 6x9mm/H &

PU tube ® 4x6mm/black;PUE ® 4x6mm/E &
PU tube ® 4x6mm/high TEMP./blue;PUE ® 4x6mm/fii} 5 iR/H &
PU tube ® 6x8mm/black;PUE ® 6x8mm/E &
PU tube ® 6x8mm/high TEMP./blue;PUE ® 6x8mm/fif 5 iR/1k &

EPDM tube ® 6x9mm/Black; EPDME ® 6x9mm/E &
EPDM tube ® 10x15mm/Black;EPDM%& ® 10x15mm/E &
EPDM tube ® 8.5x13mm/Black;EPDM& ® 8.5x13mm/& &

PVC wired hose ® 5x8mm/Black;i 58 M 4 & ® 5x8mm/E &
PVC wired hose ® 5x8mm/Blue;1% 3% [ 4 & ® 5x8mm/ik &
PVC wired hose ® 5x8mm/Red; 358 M 4 & ® 5x8mm/4L &

Leather hose ® 19x21mm L=800mm/black;TIGH: & & ¢ 19x21mm L=800mm/2 &
Leather hose ® 24x26mm L=800mm/black; TIGHE & & ¢ 24x26mm L=800mm/& &

12




PROTECTION LENSES % ¥E-+7 B 4 PROTECTION LENSES 3% 35-17 H 45
C € maw C € avawr

[oom Jbicobor] Code | Deseripion T paci | (oo Join coor] Coge | Daseription ] pack_

1IH5750 Colourless lenses 75x98x1.8 CE-EN166;iE F 3 8/75x98x1.8 CE-EN16x6  1-10-100

v

RoHS

RoHS

55x110 1IH5793  Colourless lenses 55x110x1.8 CE-EN166;i% #f 3 3/55x110x1.8 CE-EN166 1-10-100
09 1IH5713 Welding filter lenses mirror golden 75x98 DIN 09 CE-EN166;18 1 1% & Fi/4% £/75x98/DIN 09 CE-EN166  1-10-100
10 IIH5714 Welding filter lenses mirror golden 75x98 DIN 10 CE-EN166;/8 # i 3t /4 £/75x98/DIN 10 CE-EN166  1-10-100
1 11H5720 Welding filter lenses mirror golden 75x98 DIN 11 CE-EN166;{2 %1 # Fi/% €/75x98/DIN 11 CE-EN166  1-10-100
12 1IH5726 Welding filter lenses mirror golden 75x98 DIN 12 CE-EN166;/§ 1% 1 3t /4 &/75x98/DIN 12 CE-EN166  1-10-100
13 11H5727 Welding filter lenses mirror golden 75x98 DIN 13 CE-EN166;18 1 1% & Fi/4% £/75x98/DIN 13 CE-EN166  1-10-100
[oem [oincolor] Code | Doseription ] Pack |
09 1IH5758  Welding filter lenses 75x98 DIN 09 CE-EN166;18 %€ 3¢ F/75x98/DIN 09 CE-EN166  1-10-100
10 1IH5759  Welding filter lenses 75x98 DIN 10 CE-EN166;/8 1 # /+/75x98/DIN 10 CE-EN166  1-10-100 IIH5757  Colourless lenses 90x110x1.8 CE-EN166;i5 i 37#/90x110x1.8 CE-EN166  1-10-100
11 1IH5755  Welding filter lenses 75x98 DIN 11 CE-EN166;42 3%  }/75x98/DIN 11 CE-EN166  1-10-100
75x98 12 1IH5751 Welding filter lenses 75x98 DIN 12 CE-EN166;/8 3% 3 £/75x98/DIN 12 CE-EN166  1-10-100 09 11H5718  Welding filter lenses 90x110 DIN 09 CE-EN166;8 € 5t F/90x110/DIN 09 CE-EN166  1-10-100
13 1IH5752 Welding filter lenses 75x98 DIN 13 CE-EN166;/2 # & 5t F/75x98/DIN 13 CE-EN166  1-10-100 10 1IH5719  Welding filter lenses 90x110 DIN 10 CE-EN166;/& £ 5 F/90x110/DIN 10 CE-EN166  1-10-100
1 1IH5715  Welding filter lenses 90x110 DIN 11 CE-EN166;12 #% # F/90x110/DIN 11 CE-EN166 1-10-100
09 IIH5758-01  Welding filter lenses 75198 DIN 09 CE-EN166/not grinded: § #3% 3 /75x98/DIN 09 CE-EN166/R &2 1-10-100 IIH5715-01  Welding filter lenses 90x110 DIN 11 CE-EN166/not grinded; 121238 &/90x110/DIN 11 CEEN166/A B8 1-10-100
10 1IH5759-01  Welding filter lenses 75x98 DIN 10 CE-EN166/not grinded;#24% # F/75x98/DIN 10 CE-EN166/F i 1-10-100 5 11H5711  Welding filter lenses 90x110 DIN 12 CE-EN166;/& #% 3 & F/90x110/DIN 12 CE-EN166 1-10-100
11 11H5755-01  Welding filter lenses 75x98 DIN 11 CE-EN166/not grinded;$§#% i 3t Fr/75x98/DIN 11 CE-EN166/F &l 1-10-100 1IH5711-01  Welding ilter lenses 90x110 DIN 12 CE-EN166/not grinded; {81 1% % /90x120/DIN 12 CE-EN166/7F & 1-10-100
12 IH5751-01  Weldingfiterlenses 75x98 DIN 12 CE-EN166/not grinded:f 3% 3 K175x98/DIN 12 CE-EN166/R Ei 1-10-100 13 I1H5712  Welding filter lenses 90x110 DIN 13 CE-EN166;/% #i 3 1/90x110/DIN 13 CE-EN166  1-10-100
13 1IH5752-01  Welding filter lenses 75x98 DIN 13 CE-EN166/not grinded;#2#i% % /75x98/DIN 13 CE-EN166/F i 1-10-100
09 11H5723  Welding filter lenses mirror golden 90x110 DIN 09 CE-EN166;18 # % 5t Fi/4% £/90x110 DIN 09 CE-EN166 1-10-100
09  IIH5735  Weldingfilterlenses miror silver 75198 DIN 09 CE-EN1668 323 5 K/4E 8/75+98 DIN 09 CE-ENT  1-10-100 10 11H5724  Weldingfilter lenses mirror golden 90110 DIN 10 CE-EN166;/3 538 % /4 £/90x110 DIN 10 CE-EN166 1-10-100
10 1IH5731 Welding filter lenses mirror silver 75x98 DIN 10 CE-EN166;8 # i # F/4E$R/75x98 DIN 10 CE-EN1  1-10-100 90x110 11 1IH5730  Welding filter lenses mirror golden 90x110 DIN 11 CE-EN166;18 4% /4% £/90x110 DIN 11 CE-EN166 1-10-100
11 IIH5732  Weldingfilter lenses mirror silver 75x98 DIN 11 CE-EN166:2 3 3% Fi/# /75x98 DIN 11 CE-ENT  1-10-100 12 1IH5736  Weldingfilterlenses mirror golden 90110 DIN 12 CE-EN166;/2 1238 5 K/ £/90x110 DIN 12 CE-EN166 1-10-100
12 11H5733 Welding filter lenses mirror silver 75x98 DIN 12 CE-EN166;/8 # 5 ¢ F /4 $%/75x98 DIN 12 CE-EN1 ~ 1-10-100 13 1IH5737  Welding filter lenses mirror golden 90x110 DIN 13 CE-EN166;#23% 8 i Fi/4 £/90x110 DIN 13 CE-EN166 1-10-100
13 IIH5734  Welding filter lenses mirror silver 75x98 DIN 13 CE-EN166;/8 8 R/ $R/75x98 DIN 13 CE-EN1  1-10-100
09 1IH5745  Weldingfilter lenses mirror silver 90x110 DIN 09 CE-EN166;/& # % 3t Fi/4% #R/90x110 DIN 09 CE-EN166 1-10-100
mmmm 10 11H5741  Welding filter lenses mirror silver90x110 DIN 10 CE-EN166;8 43 K /4§ #R/90x110 DIN 10 CE-EN166  1-10-100
1IH5756 Colourless lenses 50x105x1.8 CE-EN166;i% ff 3 #8/50x105x1.8 CE-EN166 1-10-100 11 11H5742  Weldingfilter lenses mirror silver 90x110 DIN 11 CE-EN166;{21% i /4% $R/90x110 DIN 11 CE-EN166  1-10-100
12 1IH5743  Welding filter lenses mirror silver 90x110 DIN 12 CE-EN166;12 % 1§ /48 $%/90x 110 DIN 12 CE-EN166  1-10-100
09 1IH5753 Welding filter lenses 50x105 DIN 09 CE-EN166;#2 #i 5t //50x105 DIN 09 CE-EN166  1-10-100 13 IIH5744  Welding filter lenses mirror silver 90x110 DIN 13 CE-EN166;/2#%1E t F/4§ $%/90x110 DIN 13 CE-EN166  1-10-100
10 IIH5754 Welding filter lenses 50x105 DIN 10 CE-EN166;/& # i 5 F/50x105 DIN 10 CE-EN166  1-10-100
11 IIH5710  Welding filter lenses 50x105 DIN 11 CE-EN166;2 #%ii£ % /50x105 DIN 11 CE-EN166  1-10-100
12 IIH5716 Welding filter lenses 50x105 DIN 12 CE-EN166;@ i % 1/50x105 DIN 12 CE-EN166  1-10-100
13 IIH5717 Welding filter lenses 50x105 DIN 13 CE-EN166;#2 #i 5t //50x105 DIN 13 CE-EN166  1-10-100
09 1IH5753-01  Welding filter lenses 50x105 DIN 09 CE-EN166/not grinded; & % /50x105 DIN 09 CE-EN166/A B2 1-10-100
10 11H5754-01  Welding filter lenses 50x105 DIN 10 CE-EN166/not grinded;/§#% £ # Fi/50x105 DIN 10 CE-EN166/A iz 1-10-100
11 11H5710-01  Welding ilter lenses 50x105 DIN 11 CE-EN166/not grinded;$8 % # i/50x105 DIN 11 CE-EN166/F 32 1-10-100
50x105 12 11H5716-01  Welding filter lenses 50x105 DIN 12 CE-EN166/not grinded; €1 # /50105 DIN 12 CE-EN166/F 2~ 1-10-100
13 1IH5717-01  Welding filter lenses 50x105 DIN 13 CE-EN166/not grinded; & % Fi/50x105 DIN 13 CE-EN166/7 &2 1-10-100
09 1IH5728 Welding filter lenses mirror golden 50x105 DIN 09 CE-EN166;12 %  F/4% £/50x105 DIN 09 CE-EN166  1-10-100
10 11H5729 Welding filter lenses mirror golden 50x105 DIN 10 CE-EN166;12 %1%  F/4§ £/50x105 DIN 10 CE-EN166  1-10-100
1 1IH5725 Welding filter lenses mirror golden 50x105 DIN 11 CE-EN166;/8 51 % k4 £/50x105 DIN 11 CE-EN166  1-10-100
12 11H5721 Welding filter lenses mirror golden 50x105 DIN 12 CE-EN166;#2 % i 3t F/4% £/50x105 DIN 12 CE-EN166  1-10-100
13 1IH5722 Welding filter lenses mirror golden 50x105 DIN 13 CE-EN166;#% 15 3t /4 £/50x105 DIN 13 CE-EN166  1-10-100
09 1IH5740 Welding flter lenses mirror silver 50x105 DIN 09 CE-EN166;/8 4%  F/4$#/50x105 DIN 09 CE-EN166  1-10-100
10 IIH5746 Welding filter lenses mirror silver 50x105 DIN 10 CE-EN166;12 4%} % Fi/4# $%/50x105 DIN 10 CE-EN166  1-10-100
11 IIH5747 Welding filter lenses mirror silver 50x105 DIN 11 CE-EN166;/2 %3 % Fi/4# $%/50x105 DIN 11 CE-EN166  1-10-100
12 IIH5748  Weldingfilter lenses mirror silver 50x105 DIN 12 CE-EN166; 18238 /4 R/50x105 DIN 12 CE-EN166  1-10-100
13 1IH5749  Welding filter lenses mirror silver 50x105 DIN 13 CE-EN166;/8 3% i 3 /4 $R/50x105 DIN 13 CE-EN166  1-10-100
Note: About the registered trade mark, reference number of the model of the machine and spare parts, please see inner cover (company introduction) Note: About the registered trade mark, reference number of the model of the machine and spare parts, please see inner cover (company introduction)
13 EATiEMER. MBRREGHSES I, BRHEART (AAEN R TFEMER. NSREGNSERSHER BRHEAR (ARBN 14




